s » 20 2 SHE( ‘204 18 ~ 28l saes(FA) | TEHIHEE) EOHEHE)
o = 2o sz | 2« Er sz | 2o | 52 [19.22[ 2022 oe | oA
EH 1,116,081 226,482] 19.5 2,105,967 438,945 1.7 0.1| 4.69 | 4.93 5.0 1.6

1|53 245,741 16,982] 111.3 394,270 34,892 63.5| -19.4| 5.26| 14.47 175.2 | 102.9

2 |HEY 186,674 22,497 5.1 386,987 46,206 | -10.0| -1.8| 8.93| 8.30 -7.0| -8.3

3 |o1= 109,418 27,979] 10.3 215,382 54,500 -4.4 44| 419| 3.91 -6.6| -8.4

4 | =L Alo} 65,505 10,872 -2.5 145,858 21,335 -9.4| -4.3| 6.70| 6.03 -10.0| -5.4

5 |g&2 60,796 10,238] -4.4 121,927 20,671 | -12.7| -16.5| 6.01 5.94 -1.2 4.6

6 |E7| 41,585 15,208] 38.1 80,981 30,260 14.4| 528 352| 273 -22.3| -25.1

7 |22 34,281 1,869 33.7 56,860 3,381 9.7| -23.6| 11.61| 18.34 57.9| 43.5

8 |Zaid 18,357 5,578 9.5 36,234 10,645 | -10.8| -1.8| 3.62| 3.29 -9.1| -9.2

9 |el=(elc|o}) 17,286 10,036] 10.1 32,001 17,941 -91| -6.5 186| 1.72 -7.4| -2.8

10 |22 2 Al 15,686 2,482 -0.3 31,762 5,143 | -10.6 76| 6.68| 6.32 -5.4| -16.9
EE 15,633 4,779 0.9 30,133 9212 | -11.7| -1.8| 3.74| 327 -12.6 | -10.1
12 |5¢ 14,731 5,059 8.8 28,702 9,776 | -12.5| -11.2| 3.27| 2.91 -10.9| -1.5
13 |2{Alot 14,564 4,003] 39.0 26,097 6,989 50| -86| 2.96| 3.64 22.9| 14.9
14 |AFRLClot2td|of 13,909 1,916 4.3 22,786 3,366 | -12.2| -8.9| 6.75| 7.26 75| -3.6
15 |0|Ez2|of} 13,798 5,078] -0.2 29,068 10,945 -9.7| 14.9| 3.02| 272 -9.9| -21.4
16 |chet 13,798 3,397] 40.7 24,520 5,929 17.7| 18.2| 4.34| 4.06 -6.4| -0.4
17 |ol&olo|2|E o 13,272 2,106 -7.2 25,294 3,953 -0.6 86| 7.04| 6.30 -10.6| -8.5
18 |HA|= 12,051 3,266 -0.7 24,301 6,713 | -10.2 52| 4.21 3.69 -12.5| -14.6
IERES: Ell 11,625 3,118 9.4 20,883 6,120 -5.8| -3.6| 3.33| 3.73 12.0| -2.3
20 |ZEc|o} 11,517 3,892 -3.1 24,791 8,180 | -10.2| -5.1| 3.31 2.96 -10.7| -5.4




el HE, B, %, $/kg

e . 204 2¢l SUEEE) ‘204 18 ~ 28l ZUE(FA) | TUIHEE) | FLEIHEA) EVHEZE)
o = B sz | 2y | == B sz | 2o | 2 |1928]2028|101~2¢20 1~2¢ e [ w4

EH 969,548 135,888] -8.1 1.4 2,393,645 326,495 | -9.0| -3.4| 7.87| 7.13 7.79 7.33 | -9.4| -538
1|52 194,481 47.806] -35.8| -13.4 747,742 143,681 21.5| -10.3| 5.48| 4.07 5.95 520 | -25.8| -12.5
2 |HEY 271,707 34,035 -3.2| 247 661,676 76,355 | -4.1| 155| 10.28| 7.98| 10.44 8.67 | —22.4| -17.0
3 |z Alo} 74,422 9,217] -0.8| -1.8 140,897 18,030 | -0.6| -55| 8.00| 8.07 7.43 7.81 0.9 5.2
4 |o|E2lot 63,111 997] 11.5| 335 125,804 2,087 3.4| 222 13.37| 63.29| 43.99| 60.28| 373.2| 37.0
5 |d& 45,049 7,793 1.8 1.6 83,186 14,601 -5.4| -98| 577| 5.78 5.43 5.70 0.2 4.9
6 |2=(2lc|op) 33,968 8,918] -40.0| 15.7 71,237 18,311 | -28.3 52| 7.34| 3.81 5.71 3.89 | -48.1| -31.8
7 |E=2E Al 35,219 2,354 871 22.8 71,035 4,708 33.9| 205| 9.82| 14.96| 13.57| 15.09| 52.4| 11.1
8 |o]okot 33,455 1,291 97.8| -5.2 57,145 2,210 19.0 | -14.7| 12.42| 2591 | 18.54| 25.86| 108.6| 39.5
9 o= 28,748 3,376] 5.8 6.3 58,987 6,939 18| -6.5| 8.56| 8.52 7.81 8.50 | -0.5 8.9
10 [Ef= 20,356 3,374 -39.4| -17.7 37,603 6,224 | -35.8| -27.2| 8.19| 6.03 6.86 6.04 | -26.3 | -11.9
11 [ZEC|of 17,338 488] 88.3| -10.9 35,137 993 145| -19.9| 16.82 | 35.54 | 24.75| 35.39| 111.2| 43.0
12 |=Zaka 10,274 347 90.0| 44.9 20,865 867 96| —26.2| 2259 | 29.62| 16.19| 24.07| 31.1| 48.6
13 |Zalo]Alof 11,208 5139 -69.2| —-11.2 22,710 10,389 | -54.4| -20.2| 6.29| 2.18 3.83 219 | -65.3 | -42.9
14 |chet 10,945 2,465] -58.0| 14.6 23,835 5136 | -39.2| 11.8| 1211 | 4.44 8.53 4.64 | -63.3| -45.6
15 (Zz|® 13,016 987 31.0| 56.9 26,389 1,807 | 25.0| 49.0| 15.80| 13.19| 17.40| 14.60| -16.5| —16.1
16 |EH7| 11,043 441 70.8| 13.4 20,965 817 231 | -5.1]| 16.62| 25.02| 19.79| 25.66| 50.5| 29.7
17 |Zz282 11,173 go] 318.1| -2.7 21,644 167 64.4| -14.8| 29.10 |125.06 | 67.06 | 129.44 | 329.8 | 93.0
18 |5 8,454 696] -13.9| 25.1 17,000 1,370 | -11.2| -7.2| 17.64| 1214 | 1296 | 12.41 | -31.2| -4.3
19 |mz|AE 7,304 1,758] -36.8| 32.6 16,743 3,698 | -156| 175 8.72| 4.15 6.31 453 | -52.4 | -28.2
20 |g9= 8,556 382 46.0| 47.9 15,875 664 205| 29.8| 2268 | 22.39| 25.78| 23.92| -13| -7.2




